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4.00 0.71 ��� 

2. ��@�#���� 

2.1. 1�����������	���
�����#
�;�� 
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2.2. 	��$
�����J�3�!�#����#	�	
���
����B��	���
� 4.20 0.45 ��� 

2.3. �2����3�3��������B��	���
� 4.40 0.55 ��� 

2.4. 	;��#��������3��4������A�����:����������� 4.20 0.45 ��� 
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3.1. 1�����������	���
�����#
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4.40 

 
0.55 

 
��� 

3.2. 	��$
�����J�3�!�#����#	���
����B��	���
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3.3. �2����3�3�������������B��	���
� 4.20 0.45 ��� 

3.4. �2���������A�����:���	���
�$�;�������� 4.00 0.71 ��� 
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4.20 0.45 ��� 

4.2. �����������A1���3��:������ 3.80 0.84 ��� 

4.3. ���������<�B�!������!������������� 4.20 0.45 ��� 
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�������������������:���:��  1;��1���#��
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4.80 0.45 ��� 
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5.4. 1���:�����3��
��������������� 4.40 0.55 ��� 

5.5. 	;��#����������B������������������  1����1���F
���$���QI�� ����2������;����<��A33 

4.60 0.55 ������1
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3.80 0.45 ��� 
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4.40 0.55 ��� 
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6.1. 1���:�����3

���A1��F����������� 4.00 0.71 ��� 

6.2. ���B�����3�:
���3������� 3.80 0.45 ��� 

6.3. ������������!��$:A�	���O��B�� 4.00 0.71 ��� 

����T:���������� 4.19 0.55 ��� 
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�� 7�� N 
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	@�����"� 30 12.93 1.72 
32.06 

���$���"� 30 23.30 2.10 
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1.3.  �����������2��������������A1���3�������� 4.53 0.63 ������1
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